3—1 HTTRIHAE L OB A A

oRk224E10 1 H
. AR . AR
BT 44 | a3 e |4% | 7 M T4 | A e |4% | =
o | 23,012 59,572 28,430 31, 142|f# 3,974 9,424 4,492 4,932
TRH 3,218 8,234 3,993 4,241 1TH 553 1,129 531 598
1TH 440 1,077 484 593 2 TH 649 1,716 787 929
2 TH 655 1,613 823 790 3TH 854 1,878 867 1,011
3TH 391 1,006 466 540 4 TH 350 824 388 436
4TH 444 1,090 538 552 5 T H 386 946 509 437
5TH 325 816 395 421 6 TH 742 1,795 853 942
6 TH 963 2,632 1,287 1,345 7 TH 440 1,136 557 579
iR 1,857 4,718 2,231 2, 487||/HEiA 2,750 6,988 3,380 3,608
1TH 541 1,371 639 732 1TH 787 1,863 877 986
2 TH 297 758 354 404 3 TH 1,038 2,567 1,271 1,296
3TH 502 1,371 640 731 5TH 322 913 434 479
4TH 517 1,218 598 620 6 T H 33 75 37 38
PIA 2,559 6,704 3,137 3,567 7T H 435 1,200 591 609
1TH 606 1,507 702 805 8 TH 135 370 170 200
2 TH 493 1,241 596 645|[H A7 3,010 8,113 3,851 4,262
3TH 95 252 114 138 1TH 474 1,249 596 653
4TH 746 2,004 920 1,084 2TH 581 1,601 778 823
5TH 619 1,700 805 895 3T H 589 1,507 721 786
HOPIAK 3,539 9,861 4,675 5,186 4T H 445 1,217 577 640
1TH 613 1,636 782 854 5T H 371 1,159 526 633
2 TH 462 1,181 542 639 6 T H 160 464 231 233
3TH 594 1,468 666 802 7 TH 390 916 422 494
4 TH 349 1,077 526 551|[=i Al T - - - -
5TH 632 1,688 784 904|[FPI A A L= T 2 2 2 -
6 TH 560 1,311 609 642|\ = ib 14 14 14 -
7TH 329 1,500 706 794(|Fd =D - - - -
s 2,089 5,514 2,655 2,859
1TH 770 1,896 897 999
2TH 543 1,483 702 781
3TH 429 1,159 549 610
4TH 347 976 507 469
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